ENSEMBLE - vocal audition

Piano / Vocal Frozen: Live at the Hyperion

*Sop 1: 3F, 6F, 7F
Sop 2: 2F, 4F, 8F, 9F B 1 1
Alto: IF, 5F, 10F 0WS
ANNA - melody

ELSA - melody (alto on final note)

Music and Lyrics by
Ten: (Olaf), (Hans), 4M, SM, 7M, 8M Kristen Anderson-Lopez and Robert Lopez

Bass: (Kri , IM, 2M, 3M, 6M, 9M .
ass: (Kristoff) 3M, 6M, 9 Arranged/Adapted by Jason Michael Webb
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Bows - Frozen: Live at the Hyperion

Piano / Vocal (ENSEMBLE - vocal audition) p2/2
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- Love is an o - pen  door! Love is an o - pen

TTTO

N | R
g 7 1 1 1 1| 1
% LV‘ 1 T 1 1 1 1 1 :
Abni7 S| eb Ebme/G F Abni7
1 1 1 1 1 1 1 I I I I
1 1 1 1 h ' 1 1 1 1|
[a Y
7 | 1 ——
7 1 © 1 1 | o F - y 2 (]
N 7 D s} I —~ I | = PN I
A\NV I (] - 1 1 1 AY 1/
o I ! = | — r
door! Love is an o - pen door! With you! With
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door! Love is an o - pen door! With you!
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With you!! Loveis an o - pen door
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